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Algebra and Trigonometry — Joysheet 9 | Name: Sad Ocee
MAT 150, Fall 2017 — D. Ivansic Covers: 5.4-5.6 Show all your work!

1. (5pts) If log, 5 = 1.609438 and log, 9 = 2.197225, find (show how you obtained your
numbers):
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2. (1llpts) Write as a sum and/or difference of logarithms. Express powers as factors.
Simplify if possible.
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3. (12pts) Write as a s1ﬁg1e lﬂg:fﬂthﬂi Simplify if pussmle
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Solve the equations.
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7. (12pts) The uranium isotope uranium-232 has a half-life of 68.9 years. Suppose a sample
contains 10 grams of uranium-232.

a) Write the function describing the amount P(t) of uranium ¢ years after it starts decaying.
b) Sketch the graph of the function.

¢) When will the sample have 2.5 grams of uranium-2327
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